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1. RTE Act, 2009 is based on which
Article of the Constitution of India?

[A] Article 21A

[B] Article 45

[C] Article 75 Eliiﬁril
[D] Article 35 R
[E] Unattempted

2. The duties of a teacher is/are
[A] to maintain regularity and
punctuality in attending school

[B] to conduct and complete the
curriculum in time

[C] to assess the learning ability of
each child

— [D] All of the above
= [E] Unattempted
3. What is the prirnary consideration in

choosing teaching methods
according to cognitivism?

[A] The cognitive processes involved
in learning

[B] The teacher’s preferences

[C] The student’s interests

[D] The subject matter

[E] Unattempted

4. What is Gender Inclusion Fund (GIF)
in NEP 20207
[A] Fund for SC and ST girls
[B] Fund for SC, ST and OBC girls

[C] Fund for all girls
[D] None of the above
[E] Unattempted

__is the degree to which a test
measures what it is supposed to
measure.

[A] Validity

[B] Usability

{C] Reliability
D] Objectivity

i {E] Unattempted
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1. RTE afufm, 2009, ¥Wid™ dfqer & fog

ITTede W I 87

[A] srg=aq 21A
[B] =g 45
[C] ¥F=2g 75
[D] 37 =33 35
(E] atvafaa

. U fereh & Fdew 3/

[A] e wm 4 fafiaa 3R aw 6 aed
EELMRECEI

[B] 994 W UIGWHE Galferd &N 3R QU
FET

[C] &% s= H 3Rm &wal F MHeH
HT

D] 39w @

[E] arvfa

. e % SEER faw fRE W ogn

yrfie ferem w1 22

[A]  3rferm § wRATeS SfHAd
[B] foers i wrafiEmad

[C] B fea

[D] forwar 3%

[E] 3mEnféd

. NEP 2020 ¥ Sgt $oH BUg &1 8 ?

[A] gl STfd 3R SiEgglE Sty
wrefert & fore geft

[B] arggfea Sifd, JEgla SASfa & or
fre i i el % f gt

(C] @ wrefrl & for gsh

[D] 394w & | g Tl

[E] srnfaa

) ____ ot R, T o v wlam awmn R
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6. The NEP 2020 replaces the

[A] National Education Policy (NEP),
1986

[B] National Policy on Education,
1968

[C] Both [A] and [B]
[D] None of the above
[E] Unattempted

7. A supervisor is one who

[A] provides friendly help

[B] inspects classroom

[C] gives directions

[D] criticizes the teaching method
[E] Unattempted

8. Having variety of question sets in a

question paper increases its

[A] validity

[B] difficulty

[C] reliability

[D] objectivity

[E] Unattempted

9. According to , “Teaching is a
system of actions intended to produce
learning”.

[A] B.O. Smith
[B] N.L.Gage

[C] H.C. Morrison
[D}] Peter Drucker
[E] Unattempted
10. Which list in the Indian Constitution
is of education ?
[A] Union list
[B] State list
[C] Concurrent list
[D] None of the above

[E} Unattempted
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6. NEP 2020 ®H it 2
[A] TSR fren fifa, 1986 @
[B] ugim fen fifa, 1968 =
[C] [A] @& [B] g &1
[D] 394w & @ I 7
[E] i@ g,%?
7. wdeF 98 2 S
[A] YUl W@l SEF R &
[B] e w1 e @
[C] Féwgar?
[D] ferr fafyr i srreiram T 2
[E] TSR

8. Wy # Al yR % wea a2 81

10.

[A] sEh Aeyar i w9l ol

[B] 3@l & +l 7€l <l B
[C] soh! favasfiaar + og1 <t @
[D] sah axgfisar #t @1 &t 3
[E] It

. < gan “fugo, fRnat o gone!
2 Rrget Sewm sftrm =) Iq=7 =@ 271

[A] o 3o Ty
[B] o Telo T
[C] wEoHto wiREH
[D] X g

[E] 3wafa

Wi wfaum d w-w gt e 6 20
(A] w= TR

(B] T3

C) vt st

D] 39w & § A 75

[E]  starfm

[P.T.O.



BE===. What is the purpose of assessment for

learning?
|A] To grade students and measure
their achievements
B] To motivate students to study
harder
[C] To provide feedback to students
that can be used to improve their
learning
[D] To measure the effectiveness of
the teacher’s instruction
[E] Unattempted

12. The elementary school teachers are

directly responsible to the
[A] headmaster

[B] DEO EAE
[C] parents Elﬁ;
[D] students

|[E] Unattempted

13. According to Erikson’s theory of
psychosocial development, which
stage is characterized by the conflict
of identity vs. role confusion?

[A] Trustvs. Mistrust

[B] Autonomy vs. Shame and Doubt
[C] Initiative vs. Guilt

[D] Identity vs. Role confusion

[E] Unattempted

14. Which theoretical perspective on
learning emphasizes the importance
of social interaction and

collaboration in learning?
[A] Behaviourism

[B] Humanism

[C] Cognitivism

[D] Constructivism

[E] Unattempted

15. Under the RTE, the child right
protection body in the State will be
|A] SIERT
[B] SCPCR
IC] spDMC
D} None of the above

[E] Unattempted
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11.

12.

13.

14.

15.

(| E O 0 R

wiftqm 3 fof, e 1 3270 # 27

[A] T W T N IE I @
IO

(B] FHE F HEA FoEd =4 F AU g
H

[C] wrEt F1 g 9eE Fwn i 3Em
7% digd 1 gar & feo fFan =71 7 2

(D] ey % faew &1 yaEAAa 1 ATH %
fer

[E] 3rrfed

Tt frarer & fres yeaa w9 7 fgen €

[A] TEARR & Ffd

B] foren fren arfasrdt & wfa

[C] wmar-fuem = wfe

[D] ®E % i

[E] iy

TReEEA & TG faw@ % fagia & SEn

fore T & wgum s wfier ww F Had S
ferereen 27

[A] Tavama svm srfavam

[B] RN §9M ¥4 U4 Heg

[C] U&e M ey

[D] w&=™ M i wq

[E] i

It W w-w dgifes e, sfem §
T udh 3R TEE & e WS T 2
[A] =FERET]

[B] #HEdE]

[C] wmHTeHhdl

[D] W=

[E] srvarféa

RTE % @8d U4 8§ 9@ yfuwnr guan fwr
&m

[A] SIERT

[B] SCPCR

[c] SDMC

(D] I § & A T

[E] sTwRf@
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is an area that acts as a

boundary or a transition between two

ecosystems.

[A] Ecosphere
[B] Ecoboundary
[C] Ecotwin

[D] Ecotone

[E] Unattempted

—— Which of the following is an example

of a biological method for controlling
air pollution?

[A] Wet scrubbers

[B] Electrostatic precipitators

[C] Bioreactors

[D] Low-VOC paints

IE] Unattempted

—8. Inverted biomass pyramid is found in

[A] aquatic ecosystem
[B] terrestrial ecosystem
[C] grazing ecosystem
D] All of the above

[E] Unattempted

19. Adding fertilizer to most aquatic

|

|

|

|

|

||

systems results in

|A] increased growth of
phytoplankton and hypoxic
conditions

[B] increased growth of
phytoplankton and hyperoxic
conditions

IC] decreased growth of
phytoplankton and hypoxic
conditions

ID] decreased growth of
phytoplankton and hyperoxic
conditions

[E] Unattempted

20. Which of the following can be

recycled many times?
[A] Wood

[B] Plastic

[C] Aluminium

[D] Organic materials
[E] Unattempted

T-1/1-B
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16.

17.

18.

19,

20.

A U UM R R A& mhfebrh dbi A,
a4 dm o wsE o w8 e an R
4] ghEhim

[B] FhiETEg)

] i

D] FHEM

[E] anamfE

T @ BA-a My fafy g oag wgem

frifia 0 I TH I 7

[A] e BhEX

[B] erhgrefess Mufreed

[C] =R

(] =i 3k Y

[E] arnféd

Iea1 A frfie g S 2

(A] <iefa arifeafaeh! o= o

(B] wreha witfRuf 7 #

[C] = whfRuR @ §

[D] 37w wt

[E] TR

Frftreniw Steftg wonferal § It g 1 qiom

T 2

[A] :gz‘tm IR gedfRgs fafl o

[B] wrdrtihet it wEwifees fRafodi o
T

[C] wrEdreiwe 3 wEafFes Rufei
e d &

[D] wEdwiwe it gwfes feufm

gfg o #f
[E] orvfea

A A frwr rE T gERiwm fwn @

T 7

[A] w9 gﬁm
B wnfees Em
[C] wyfifrm

ID] ity e

[E]  smrarfi

|R.T.O.
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21. Acids in the rain react with the 21. =i %1 e, Tl d Hfcwrm gt 3
calcium compounds in the stones to wfafiar S0 S7aT 2
create (A] ﬁ
A sum
I gyP_ [B] Sfcwrm FEHe
[B] calcium carbonate 3
[C] calcium hydroxide [C] i . 5‘ Sl
[D] None of the above [D] 3% 4 & 1S T
[E] Unattempted [E] 3Twanrd
22. In plants, ammonium is often 22. qiui #, sy e A13ee 4 uftafda & I
converted to nitrate, before it can be 2, 359 yga for a8 19 gr0 3w foran w7 g%
used by the plant. This process is afE
known as w EF\T' FE ST
{A] photosynthesis [A] ST FRICTHT
[B] denitrification [B] 3FTEIRTr
[C] nitrogen fixation I;If',.‘!EI [C] g e
[D] nitrification s [D] =sfesrm
[E] Unattempted [E] stonRe
23. Which of the following wastes are 23. fg 9 3
called the Municipal Solid Waste . _ﬁm i_g I TRAAHT 1 3 EE
(MSW)? (Municipal Solid Waste )&a1 wmar 27
[A] Food wastes [A] =aie @
[B] Wood pieces [B] el gwe
[C] Plastic cans [C] wifes % femy
[D] All of the above [D] 3ugw @t
|[E] Unattempted [E] 3w
24. The group of organisms which convert 24, Sfigi %1 9qg S g
light energy into food energy are — maﬁmmﬁ’aaaal
1g p 8y gy &, 98 ShEelar 8
T”e totroph 1A
autotrophs
(Al P [B] wwardt
(B] heterotrophs
[C] 3ues
[C] decomposers
[D] omnivores [D] waterd
[E] Unattempted [E] amranfa
25. In which layer of the atmosphere do 25. 9IgHed % fru wae i ga arfus dew 6
most of the weather phenomena occur? Al Bt 27
[A] Stratosphere [A] HwaN Hew
[2] Troposphere [B] & tee
M .
[C] Mesosphere ]
(D] Ozanosphere S
[E] Unattempted (D]
T-1/1-B [E] 3w
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26. The intrusion of Ahmed Shah Durrani

27.

28.

29.

30.

D]

 1-1/1-B

in India culminated in the Third
Battle of Panipat in

(A] 1761
[B] 1739
[C] 1765
[D] 1757
[E] Unattempted

How many States touch the border of
Haryana?

(Al 2

(B] 4

€ S

D} 7

[E] Unattempted

What is the longitudinal extent of
Haryana?

[A] 74°27 West longitude to 77°36°
East longitude

74°27 East longitude to 77°36
East longitude

74°27 South longitude to 77°36
South longitude

None of the above

(B]
(€]

[D]
(E]

Who introduced the E20 petrol having
a mix of 20% ethanol?

[A] Narendra Modi
[B] Amit Shah

[C] Nitin Gadkari
[D] Manohar Lal
[E] Unattempted

Unattempted

From where do the coins obtained
show that in ancient times there was a
‘Agra’ (fore) republic in the Hisar
region?

[A] Barwala

[B] Agroha

[C] Both [A] and [B]

None of the above

[E] Unattempted

26.

27.

28.

29.

30.

wrd § 3rEwe e g & FAfeshu & ey
qrivd &1 qdia I for ad gan an?

(A] 1761

B] 1739

[C] 1765

D] 1757

[E] 3R

fray TR TS TiETon Y Ha B e F 87
(A]
(B]
(€]
18
[E]
e w1 Igee fram = 82

[A] 74°27 UEEH ¥ 77°36" T G
[B] 74°27 W@ @ 77°36" T RN

[C] 74°27 Tm & 77°36" <fu SRR
D] 39 # & F13 T

[E] 3raféa

N o1 AN

AT

20% 3aFTet T a1l E20 Y sht YEAT
fpem 7

[A] Rz HEIQ

[B] 3fd W@

[c] Fife et

[D] A& o

[E] 3vwid

el @y fowl @ v v @ 5w §
fear &3 § 3 TR A7

[A] wETeT .

B] s %%%

[C] [A] 3l [B) g

(D] 3% & 4 =¥ 75

[E] styafi

[P.T.O.



31. Which is the northernmost district of
Haryana?

[A] Mewat
[B] Jhajjar

[C] Panchkula
[D] Karnal

[E] Unattempted

32. National Dairy Research Institute is

located at

[A] Yamunanagar
IB] Karnal

[C] Rohtak

D] Jind

[E] Unattempted

24
s
33. Where in Haryana, a laboratory with

embryo transplantation facilities has
been set up?

[A] Hisar

[B] Jind

[C] Karnal

[D] Panchkula
[E] Unattempted

34. Which among the following pairs is
correctly representing the top 5
Haryana districts populationwise?
[A] Faridabad, Hisar,

Gurgaon and Karnal

Bhiwani,

[B] Rewari, Hisar, Bhiwani, Gurgaon
and Karnal

[C] Faridabad, Hisar, Bhiwani,
Gurgaon and Rohtak
D] Faridabad, Hisar, Bhiwani,

Gurgaon and Yamunanagar
[E] Unattempted

35. From where was the newspaper
‘Savdhan’ published?

[A] Sirsa

{B] Narnaul

[C] Gurgaon

[D] Bhiwani

[E] Unattempted
T-1/1-B

31.

34.

35.

| ELERE 0 LI
aframon @1 gad 3h faen FH-H1 82
[A] wam
(B] sr=r
[C] e
[D] =TT
[E] 37ty

. Yo Tl fre seee R 2

[A] IR A
[B] T |
[C] T #
D] S=d

[E] surfaa

. gRamn & s, yor gfedoe glawrst @ I T

RN RS AT

[A] fear

[B] Sfig

[C] T

[D] wgen

[E] stvaifaa

Frer 3 - i, s g
5 ¥fid TSl &1 3@ et 27

[A] wiTEm, far, e, wem w we
[B] T=r€l, femm, e, mam o s
[C] Wi, feam, frart, Toum v daas

[D] wlgrEre, %FT{, ﬁwn:ﬁ, ™ T
RESIEULE
[E] otwria

‘mm’mwwm@mﬁgm?
(A] fawn

[B] A
[C] TeTE
D] fwar
[E] sramed
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36 What s the g arvg o Hervanas

A Ad ) e wm
B 30V w b
L T T
v i o

8ty ko

F inen Pr Pt e

o whih at the follrwing distruts of
Harvwana are Pra tapgarh Farms located?

AL Thapyar

Bl Somipal

ICi Gurugram

i Rewar:

[E: Unattempted

An omament, wormn in the nose which

8 also commonly known as ‘Chhot
Nath 15 called

Al Nose-nng (baser)

Bi Ring

T} Chan

D) Murror-set nng

E! Unantempted

- Who was popularly known as Hadi-e-
Haryana?

(A Bhekh Fand

{B| Shekh Usman

IC] Shah Muhammad Ramzan
L% Hayrat Khairu

El  Unanempted

+ "Rehabilitution of Aravalli Hills

Scheme” launghed in Haryuna 1s
funded

(Al fully Siate

B Centre and Bate

[C] Centrae

(D Rajasthan und Haryana
[E]  Unattempted

T-1/1-B

37.

38.

39.

o g go gy o7 P
A a4y 3 e
W 4 s gt Bl

H ANt s gl e

11 19605 i Gt

Fi  wenfi=

vy et B & o erarm & fea faR A
fitrn 25

(A} T

Bj #r

IC} Tum

D] rams)

[E] swmfaa

A% A op @ va sy fag osm A W
YA T F am s A= oI b, G b

[a] &=

(B] s

IC] =3

(D] s

[E] stuanfaq

"RIQI-U-&framen & am | #14 afgg 4+

[A] 1@ i

[B] Y3 3@

(C] ® gz o

[D] wwm dw

[E]  wuwfen
Kfﬂrmnﬂmqumnm‘mrar«ﬁqugzﬁw
rata aren @ fluwm @ s g

lA] qh am o oeg

1) g oy i %

[ Wy

1 T g

) wuartom

IPTO



4].

42.

43.

44, Match List—I and List—II :
List—I List—II
(Districts) (Date of creation)
faj Sonipat (i) 1st November, 1989

/bj Kurukshetra (i} 4th April, 2005
{c) Rewari
{d} Nuh

45.

Haryana Kisan Mitra Club Scheme
was launched

[Af tor small and marginal farmers
with land holding upto 2 acres

(Bl for small farmers only

IC1 fur marginal farmers

iD] None of the above

[E}] Unattempted

Which among the following districts
does not come under Ambala
division?

[A] Karnal

{B] Ambala

IC] Yamunanagar
D] Kurukshetra E;#E
[E] Unattempted 5@%

What is the population density of
Haryana?

[A] 560 persons/sq.km

Bl 573 persons/sq.km

IC] 589 persons/sq.km

[D] None of the above

[E] Unattempted

{iii) 22nd December, 1972
(iv) 23rd January, 1973

Select the correct answer using the
code given below :

(Al {faj i), (b)-(iv), (ck(i): (@)-{i)
B (faf (i), (b)-(i), (ci(i), (d}-(iv)
(] fa1i), (b)-fid). (c)-(i). (d)-(iv)
D] faj-iy). (b(i), (cfiv), (d)-(id)
[E] Unattempted

The capital of the Haryana State is
{A] Chandigarh

{B] Kurukshetra

IC] Ambala

iD] Rewar

[E}  Unattempted

T-1/1-B 10

HERDAUETRN TR T v
41, ‘o feam fog oo G A 6o o
[A] 2 e A ft T 91 7Y T i
(B] e @iy ferari & fem
(] Faer diaia faml & e
D] 39 # & %K T
[E] SToam
42, Fr=r - foren sieTen Hew & Fid T@
3T B2
[A] =TT
[B] sfar
[C] ¥FAFFR
[D] Fea
[E] arwita
43. TR T SHEET T 187
[A] 560 =afm/a ol
[B] 573 =it /et ot
[C] 589 =afts /=l ferl

[D] 3w & @ = 7

[E] STvnf
44, HEfi—1 T qER—I1 S gAfew i

gai—I (Rret) g1 (Reforfranie)
{a) araa () 1=, 1989
(b} FEA (i) 4 3184, 2005
(c) Tt (i) 22 feaw, 1972
(d) & (iv) 23 ==, 1973

2 fow e %2 i gEEA A w@ I G

(A] (a)-fid), (b)}-(iv), (c}-(i), (d)-(ii)
Bl (a)fii), (b)), (c)-(i1), (d)-(iv}
[C] (a)-(i), (b)-(id), {c}-(d), (d)-(iv)
D} (a)-(ii), (b)-fi), (c}fiv), {d)-(iii)
[E] 39

45. girawon =9 i T 2

(A] =Eme
[B] e
[C] FFaTen
D} Taré
[E| e
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46.

The above sign represents

{A] right hairpin bend

[B] overtaking from left is allowed
[C] descend from left

(D]
[E]

None of the ahove

Unattempted

47. DMVR stands for

48

[A] Delhi Motorised Vehicle Rules,

1993

Delhi Motorised Vehicle Rules,
1989

Delhi Motorised Vehicle Rules,
2005

None of the above

(Bl
€]

(D]

[E] Unattempted

. Which of the following devices should

not be used while driving?
{A] Cell phone

[B] Seat belt

[C] Helmet

[D]
[E]

Hom

Unattempted

49. While driving the hand can also be

used as a in emergency.
(A]
[B]
[C]
[D]

€]

weaporn
protection

signal

None of the above
Unattempted

50. Sign of children near road shows

possibility of ____ nearby.
[A] school

@Bl
[C]
]
[E]

park

home
hospital
Unattempted

. T-1/1-B
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46.

47.

48.

49.

50'

i, dia faefna & b

(A] i ) vire

(B A @ sz a0 ) e 2
(C] am @ 3afiw

(D] Iw 1 8w T

(E] swnfad

DMVR &1 514 R

[{\] Delhi Motorised Vehicle Rules,
1993
Delhi Motorised Vehicle Rules,
1989
Delhi Motorised Vehicle Rules,
2005

[D] 37w # & # 7,

[E] amraféd

aTed Fem @wa e i @ fre 3T R
T B AMEE?

[A] ¥ B

[B] Hreawe

[C] e

[D] &H

[E] mrnfed

qET I |@va, R AR 3, 81 W
I % wy ¥ fean 0 g B

[A] wER

(B] dam

[C] &a

D] 3w i & v T

[E] i

e & UM vl @ fa, ymumd R
HUTEAT ST R

(B]

]

o] e B
[B] uTE @gg
[C] =

(D] FqaTe

|E) Fwfaa

[P.T.O.



51. qdm agae & yRm v
L]
B f
c} =
D] &

[E] e

52. Taf aretis: aegeRe T fHATH 7

[A] TETR

[B] To14q: [l
it

[c] ™

[D] Tma:

[E] srmaifed

§3. T Hfd @i fa= 7
(A] 25
[B] 250
C] 325

D] 645

12

VORI

B5. quey @2 M. vl

56.

57.

V58,

[4] #-am

(B] o

(C] Eo-am

(D] -

[E| s
sreeeeTA: T A 7
(A] F=EA

D] #=:

[E] swarfaa

[A] @mse

[B] vEERSER
€] TemmTS

(D] ZFEEseEm

[E|  sroamfem
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59. Tfe: el e ¢

60.

L61.

62.

Al =
B T
|IC] =
D] wHa:

[E] 3w

Ifers: g H: g8 7
A} =g

[B] TR

[C] WEFSHIARIETHR:
[D] e

[E] arwenfaa

ST R % s 7
|A] srfe i

B T wfa:

[C] foeri wfa:

[D} = |f:

[E] e

2 W] R TR R
[A] Tm:

(B} =

[C] @

D =m

[E] s

T™1/1-B
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63. ‘4 gfa e weym. Afia

I
B]
e =
D]
[E] vt

64. I e yapft agae w9 Afaafa
[A] Zorem
(B] g
2 7
(D] Feum
[E] snmnfaa
65. ‘Iua’ # fwifes: q=a 7
[A] S
[B] =gl
[Cl qgm
P T

[E] swafaa

66. e ¥ gam Ffdey FEAfa

[A] w0m
PR
o) wfaswrm

D) WOy

(£} wwafea

|P.T.O.



68. ‘T’ 39A &: w4 fa=de: ?

[A] A + 3T

(B] ¥+ u1: 040
&

(C] 7 + 31

[D] A + gh:

[E] stvafia

69. ‘= + 3912 i 2 wafd ?

70. e I A

14

72.

73.

74.

NERE R R @ maE T an
71, FUUTIEATER AN A

[A] uaEd
[B] wera3:
[C] Fomehin
[D) feher
[E] emrnfia

ST + AT oA Hi:
[A] ST

[B] e

[C] reqra

[D] wraTg

[E] smenfaa

‘era’ I A fe 7
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